UNITED STATES SECURITIES AND EXCHANGE COMMISSION

Washington, D.C. 20549

FORM 6-K

REPORT OF FOREIGN PRIVATE ISSUER PURSUANT TO RULE 13a-16 OR 15d-16 UNDER THE SECURITIES EXCHANGE ACT OF 1934

For the month of May, 2017 Commission File Number 1-15250

BANCO BRADESCO S.A.

(Exact name of registrant as specified in its charter)

BANK BRADESCO

(Translation of Registrant's name into English)

Cidade de Deus, s/n, Vila Yara 06029-900 - Osasco - SP Federative Republic of Brazil (Address of principal executive office)

Indicate by check mark whether the registrant files or will file annual reports under cover Form 20-F or Form 40-F. Form 20-F ____X Form 40-F _____

Indicate by check mark whether the registrant by furnishing the information contained in this Form is also thereby furnishing the information to the Commission pursuant to Rule 12g3-2(b) under the Securities Exchange Act of 1934.

Yes _____ No ___X____

In April 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

(x) Controller's

Group and Family Dependants

	Openning Balance		
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	2,028,821,219 62,644,292 Closing Balance	73.0632 2.2559	36.5316 1.1279
	-	% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	2,028,821,219 62,644,292	73.0632 2.2559	36.5316 1.1279

In April 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers		()Auc Commit		() Technical and Advisory Agencies			
	Openning Balance								
					% of participation				
Type of Securities/Derivatives					ty	Same type of Shares Total			
	Common Share Non-Voting Sha				49,111 94,920				
	0	Month Mov	ement		-				
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$			
Non-Voting Shares Non-Voting Shares	Bradesco S.A. C.T.V.M.	Buy Buy Buy Buy Total Sell Sell Sell Sell Sell Sell Sell Se	7-Apr 7-Apr 26-Apr 26-Apr 26-Apr 10-Apr 10-Apr 10-Apr 10-Apr 11-Apr 11-Apr 11-Apr 11-Apr 11-Apr 11-Apr 11-Apr 11-Apr 11-Apr 11-Apr	$\begin{array}{c} 100\\ 23\\ 49\\ 72\\ 1\\ 245\\ 41\\ 10,000\\ 14,300\\ 300\\ 30,000\\ 47,300\\ 2,700\\ 36,900\\ 3,100\\ 99,000\\ 1,000\\ 50,000\\ 49,900\\ 100\end{array}$	32.75 32.76 32.03 32.10 32.11 32.15 31.45 31.50 31.51 32.00 32.01 32.10 32.14	R\$ 737.15 R\$ 1,604.26 R\$ 2,358.00 R\$ 32.76 R\$ 7,936.17 R\$ 1,314.87 R\$ 320,300.00 R\$ 459,030.00 R\$ 9,633.00 R\$ 9,633.00 R\$ 9,633.00 R\$ 9,633.00 R\$ 9,633.00 R\$ 9,633.00 R\$ 9,633.00 R\$ 1,487,585.00 R\$ 1,487,585.00 R\$ 1,487,585.00 R\$ 1,603,786.00			

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares Non-Voting Shares	Sell Total	11-Apr	700 32.21 393,641	R\$ 22,547.00 R\$ 12,577,153.87
	Closing B	alance		
				% of participation
Type of	Securities/Derivatives		Quantity	Same type of Shares Total
Common Shares			18,949,111	0.6824 0.3412
Nc	on-Voting Shares		27,901,524	1.0048 0.5024

Company: Bradesco Leasing S.A. Arrendamento Mercantil							
Group and Family Dependants	(x)Board of Directors	() Board of Executive Officers	()Audit Committee	• • •	Fechnical and sory Agencies		
		Openning Balance					
				% 0	of participation		
Тур	Quantity		e type of nares				
		0	0.0000 0.0000				
	Non-Voting Shar			0	0.0000 0.0000		
		Closing Balance		0/			
				%0	of participation		
Тур	e of Securities/De	rivatives	Quantity		e type of nares Total		
	Common Share	es		0	0.0000 0.0000		
	Non-Voting Shar	res		0	0.0000 0.0000		

In April 2017 were done the following operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family Dependants	()Board of Directors	(X) Board of I Office		()Auc Commit		() Technical and Advisory Agencies		
Openning Balance								
				% of participation				
Type of Securities/Derivatives					ty	Same type of Shares Total		
	Common Share Non-Voting Sha				69,168 93,201	0.0024 0.0012 0.1113 0.0556		
	Non-Voling Sha	Month Mov	ement	5,0	35,201	0.1113 0.0330		
- <i>i</i>			•					
Type of Securities/Derivatives	Broker	Operation	Day	Quantity	Price	Value in R\$		
Non-Voting Shares		Buy	3-Apr	10	32.56	-		
Non-Voting Shares		Total	07 4	10	00.00	R\$ 325.60		
Non-Voting Shares		Sell	27-Apr	22				
Non-Voting Shares		Sell	27-Apr	1,400				
Non-Voting Shares		Sell Sell	27-Apr 27-Apr	2,700 65		R\$ 89,937.00 R\$ 2,180.10		
Non-Voting Shares Non-Voting Shares		Sell	27-Apr 27-Apr	2,100	33.54	. ,		
Non-Voting Shares		Sell	27-Apr 27-Apr	2,100				
Non-Voting Shares		Sell	27-Apr	2,400	33.43			
Non-Voting Shares		Sell	27-Apr	1,497				
Non-Voting Shares		Sell	27-Apr	4,328				
Non-Voting Shares		Sell	5-Apr	1,000	32.10	. ,		
Non-Voting Shares		Sell	5-Apr	1,000	32.79			
Non-Voting Shares		Sell	5-Apr	1,000	32.84			
Non-Voting Shares		Sell	11-Apr	1,000	32.20	. ,		
Non-Voting Shares		Sell	27-Apr	18		R\$ 603.18		
Non-Voting Shares		Sell	27-Apr	3,200	33.54	-		
Non-Voting Shares		Sell	27-Apr	1,400				
Non-Voting Shares	Bradaaaa C A	Sell	3-Apr	10	32.46			
Non-Voting Shares	Bradesco S.A. C.T.V.M.	Sell	3-Apr	600	32.48	R\$ 19,488.00		
Non-Voting Shares	C. I . V . IVI.	Sell	10-Apr	1,000	31.91	R\$ 31,910.00		

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Sell	28-Apr	1,000	33.35	R\$ 33,350.00
Non-Voting Shares	Sell	27-Apr	80	33.60	R\$ 2,688.00
Non-Voting Shares	Sell	27-Apr	500	33.63	R\$ 16,815.00
Non-Voting Shares	Sell	3-Apr	10	32.60	R\$ 326.00
Non-Voting Shares	Sell	3-Apr	600	32.63	R\$ 19,578.00
Non-Voting Shares	Sell	27-Apr	33	33.60	R\$ 1,108.80
Non-Voting Shares	Sell	27-Apr	1,000	33.64	R\$ 33,640.00
Non-Voting Shares	Sell	27-Apr	590	33.50	R\$ 19,765.00
Non-Voting Shares	Sell	27-Apr	1,078	33.40	R\$ 36,005.20
Non-Voting Shares	Sell	27-Apr	32	33.29	R\$ 1,065.28
Non-Voting Shares	Sell	27-Apr	1,000	33.27	R\$ 33,270.00
Non-Voting Shares	Sell	27-Apr	33	33.57	R\$ 1,107.81
Non-Voting Shares	Sell	27-Apr	1,000	33.58	R\$ 33,580.00
Non-Voting Shares	Sell	3-Apr	281	32.58	R\$ 9,154.98
Non-Voting Shares	Sell	3-Apr	100	32.59	R\$ 3,259.00
Non-Voting Shares	Sell	3-Apr	10	32.53	R\$ 325.30
Non-Voting Shares	Sell	3-Apr	600	32.63	R\$ 19,578.00
Non-Voting Shares	Total		32,761		R\$ 1,088,625.82
-	Closin	g Balance			
					% of participation
Type of Securitie	es/Derivatives		Quanti	tv	Same type of Total
			Quanti	.,	Shares Total
Common Shares				69,168	0.0024 0.0012
Non-Voting				60,450	0.1102 0.0551
	5,0	, •			

In April 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Company. Danco Diadesco S.A.				<i>.</i>	
Group and Family Dependants	()Board of Directors	() Board of Executive Officers	(X) Audit Committee	()Technic Advisory Ag	
	Openning E	Balance			
				% of partic	ipation
Type of Securities/Derivatives				Same type of Shares	Total
Common Shares			2,312	0.0000	0.0000
Non-Voting Shares			92,920	0.0033	0.0016
-	Closing Ba	alance			
	_			% of partic	ipation
Type of Securities/	Derivatives		Quantity	Same type of Shares	Total
Common Sha	ares		2,312	0.0000	0.0000
Non-Voting Sh	nares		116,929	0.0042	0.0021

Note: New member who belong to the Audit Committee João Sabino

In April 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Company: Banco Bradesco S.A.

Group and Family Dependants	()Board of Directors	() Board of Executive Officers	() Audit Committee	(x) Technic Advisory Ag		
	Openning E	Balance				
				% of partic	ipation	
Type of Securities/Derivatives				Same type of Shares	Total	
Common Sh	0	0.0000	0.0000			
Non-Voting Shares			0	0.0000	0.0000	
Closing Balance						
				% of partic	ipation	
Type of Securities/Derivatives				Same type of Shares	Total	
Common Shares			0	0.0000	0.0000	
Non-Voting S	hares		0	0.0000	0.0000	

Con	npany: Banco Brades	co S.A.			
	Banco Bra	adesco			
Nam	ne: S.A.	CPF/	CNPJ: 60.746.948/0001-12		
Qua	lification: Treasury				
			Openning Balance		
			% of participat	ion	
Тур	e of Securities/Derivat	ives Quantity	Same type of Shares		Total
	Common Shares	4,575,045		0.1647	0.0823
	Non-Voting Shares	17,141,588		0.6173	0.3086
	·		Closing Balance		
			% of participat	ion	
Тур	e of Securities/Derivat	ives Quantity	Same type of Shares		Total
	Common Shares	4,575,045		0.1647	0.0823
	Non-Voting Shares	17,141,588		0.6173	0.3086

.A.			
	CNPJ: 11.814.208/0001-60		
	penning Balance		
	% of participation	on	
Quantity	Same type of Shares		Total
0		0.0000	0.0000
0		0.0000	0.0000
	Closing Balance		
	% of participation	on	
Quantity	Same type of Shares		Total
0 0		0.0000 0.0000	0.0000 0.0000
	tda CPF/ ed Company Quantity Quantity 0 0	tda CPF/CNPJ: 11.814.208/0001-60 ed Company Openning Balance % of participati s Quantity Same type of Shares 0 0 Closing Balance % of participati s Quantity Same type of Shares 0	tda CPF/CNPJ: 11.814.208/0001-60 bd Company Openning Balance % of participation Quantity 0 0.0000 0 0.0000 Closing Balance % of participation % of participation 0 0.00000 0.0000 0.00000 0.00000 0.00

In April 2017 there were not operations with securities and derivatives in accordance with Instruction CVM (Comissão de Valores Mobiliários) 358/2002 Paragraph 11

Name: 2bCapital S.ACPF/CNPJ: 07.063.675/0001-29 Qualification: Controlled / Related Company

		Openning Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A.				
ADC Bradesco - Asso	ociação			
Name: Desportiva Classista	CPF/CN	NPJ: 51.244.101/0001-49		
Qualification: Controlled / Related C	ompany			
	Openning E	Balance		
		% of participa	ution	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing Ba	alance		
		% of participa	ution	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Ágora Corretora de Títul	os e			
Name: Valores Mobiliários S.A	CPF/C	NPJ: 74.014.747/0001-35		
Qualification: Controlled / Related Com	ipany			
	Openning B	alance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing Ba	llance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Ágora Educacional	ı		
Name: Ltda		CNPJ: 09.544.124/0001-02	
Qualification: Controlled / Related C	Compan	У	
	-	Openning Balance	
		% of participation	
Type of Securities/Derivatives Qua	antity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives Qua	antity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesc Aicaré Hold				
Name: Ltda	ingo	CPF/CNPJ: 09.235.141	/0001-68	
Qualification: Controlled / Re	lated Company			
		enning Balance		
	- F	% of participati	on	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
C	С	losing Balance		
		% of participati	on	
Type of Securities/Derivative	esQuantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.	lava da			
Alvorada Administrac	iora de			
Name: Cartões Ltda		CPF/CNPJ: 01.382.42	1/0001-97	
Qualification: Controlled / Related Co	ompany			
	Openni	ing Balance		
	-	% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closir	ng Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Compa	any: Banco Bradesco S.A.				
	Alvorada Companhia Secu	iritizadora			
Name:	de Créditos Financeiros		CPF/CNPJ: 03.572.41	2/0001-94	1
Qualifi	cation: Controlled / Related Compa	any			
		Openning Bal	ance		
			% of participa	ution	
	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000
	C C	Closing Bala	Ince		
		Ū	% of participa	ution	
	Type of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
	Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Alvorada Serviços e	2			
Name: Negócios Ltda	2	CPF/CNPJ: 50.991.421	/0001-08	
Qualification: Controlled / Related (Company			
	Open	nning Balance		
% of participation				
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	sing Balance		
		% of participat	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Ban					
	Amapari Holo	aings			
Name:	S.A		CPF/CNPJ: 15.012.678	/0001-61	
Qualification: Co	ontrolled / Rela	ated Company			
			penning Balance		
			% of participat	ion	
Type of Securit	ies/Derivative	sQuantity	Same type of Shares		Total
Commor	Shares	0		0.0000	0.0000
Non-Votin	a Shares	0		0.0000	0.0000
	genalee		losing Balance	0.0000	0.0000
		0	•		
			% of participat	on	
Type of Securit	ies/Derivative	sQuantity	Same type of Shares		Total
Commor	Shares	0		0.0000	0.0000
Non-Votin	g Shares	0		0.0000	0.0000

Company: Banco Bradesco S				
Andorra Holdir Name: S.A	iys		/0001 00	
		CPF/CNPJ: 08.503.501	/0001-00	
Qualification: Controlled / Relate	ed Company			
	Ор	enning Balance		
	-	% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
· · · · · · · · · · · · · · · · · · ·		losing Balance		
		•		
		% of participati	011	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco Aporé Holding				
Name: S.A	J2	CPF/CNPJ: 15.011.651/	0001 54	
		GFF/GNFJ. 15.011.051/	0001-34	
Qualification: Controlled / Rela	ted Company			
	C	Denning Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance	0.0000	0.0000
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	Ő		0.0000	0.0000
Non-voling Shares	U		0.0000	0.0000

Company: Banco Bradesc				
Aquarius H	oldings			
Name: Ltda		CPF/CNPJ: 04.866.440)/0001-87	
Qualification: Controlled / Re	elated Company			
		nning Balance		
		% of participat	ion	
Type of Securities/Derivativ	ves Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
5	Clos	sing Balance		
		% of participat	ion	
Type of Securities/Derivativ	ves Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Ban	co Bradesco S. Aranaú Holdings				
Name:	S.A	2	CPF/CNPJ: 15.011.846/(0001-02	
Qualification: Co	-	d Compan			
		•	Openning Balance		
			% of participation	n	
Type of Securiti	es/DerivativesQ	Jantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	g Shares	0		0.0000	0.0000
	-		Closing Balance		
			% of participation	n	
Type of Securiti	es/DerivativesQ	Jantity	Same type of Shares		Total
Common	Shares	0		0.0000	0.0000
Non-Voting	g Shares	0		0.0000	0.0000

Company	: Banco Bradesco S.A.			
	ARFAB - Associação Recre	ativa dos		
Name:	Funcionários da Atlântica-B	radesco	CPF/CNPJ: 42.413.153/0001-	00
Qualification	on: Controlled / Related Compa	iny		
		Openning Balance	9	
			% of participation	
Ту	pe of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
	-	Closing Balance		
		-	% of participation	
Ту	pe of Securities/Derivatives	Quantity	Same type of Shares	Total
	Common Shares	0	0.0000	0.0000
	Non-Voting Shares	0	0.0000	0.0000
	-			

Company: Banco Bradesco S.A.					
Atlântica Companh Name: Seguros	CPF/CNPJ: 33.151.291/0	001-78			
Qualification: Controlled / Related					
	Openning Balance				
% of participation					
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	
Ũ	C	losing Balance			
		% of participation	I		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

Company: Banco			
Ba	aíra Holdings		
Name: Lto	da	CPF/CNPJ: 10.429.085/0001-81	
Qualification: Contr	olled / Related Com	pany	
		Openning Balance	
		% of participation	
Type of Securities/	DerivativesQuantity	Same type of Shares	Total
Common Sh	ares 0	0.0000	0.0000
Non-Voting S		0.0000	0.0000
		Closing Balance	
		% of participation	
Type of Securities/	DerivativesQuantity	Same type of Shares	Total
Common Sh	ares 0	0.0000	0.0000
Non-Voting S		0.0000	0.0000

Company: Banco	Bradesco S.A. anco Alvorada		
_	A	CPF/CNPJ: 33.870.163/0001-84	1
			+
Qualification: Cont	rolled / Related Cor		
		Openning Balance	
		% of participation	
Type of Securities	/DerivativesQuantity	Same type of Shares	Total
Common S	hares 0	0.00	0.0000
Non-Voting S	Shares 0	0.00	0.0000
3 -		Closing Balance	
		% of participation	
Type of Securities	/DerivativesQuantity	Same type of Shares	Total
Common S	hares 0	0.00	0.0000
Non-Voting S	Shares 0	0.00	00 0.0000

Company: Banco Bradesco S.A. Banco Boavista	1			
Name: Interatlântico S.A		CPF/CNPJ: 33.485.541/	0001-06	
Qualification: Controlled / Related	Company			
	Ор	enning Balance		
		% of participatio	'n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	8,694		0.0003	0.0001
Non-Voting Shares	8,343		0.0003	0.0001
	C	losing Balance		
		% of participatio	'n	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	8,694		0.0003	0.0001
Non-Voting Shares	8,343		0.0003	0.0001

Company: Banco	D Bradesco S.A. Banco Bradescard			
_	SA	CPF/CNPJ: 04.184.	779/0001-01	
	trolled / Related Com		775/0001 01	
Qualification. Con	ITOIIEU / Nelaleu Com			
		Openning Balance		
		% of partici	pation	
Type of Securitie	s/Derivatives Quantit	Same type of Shares		Total
Common S	Shares C		0.0000	0.0000
Non-Voting	Shares C		0.0000	0.0000
5		Closing Balance		
			nation	
		% of partici	pation	
Type of Securitie	s/Derivatives Quantit	Same type of Shares		Total
Common	Shares C		0.0000	0.0000
Non-Voting			0.0000	0.0000

Company: Ban	ico Bradesco S.A.				
	Banco Bradesco BE	31			
Name:	S.A		CPF/CNPJ: 06.271.464	/0001-19	
Qualification: Co	ontrolled / Related Co	ompan	у		
			Openning Balance		
			% of participati	on	
Type of Secur	ities/Derivatives Qua	antity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ing Shares	0		0.0000	0.0000
	-		Closing Balance		
			% of participation	on	
Type of Secur	ities/Derivatives Qua	antity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Vot	ing Shares	0		0.0000	0.0000

Company: Banco Br	r adesco S.A. o Bradesco				
Name: BER			CPF/CNPJ: 33.147	.315/0001-15	
Qualification: Controll	ed / Related	Compan	у		
			Openning Balance		
			% of partic	ipation	
Type of Securities/I	Derivatives C	Quantity	Same type of Shares		Total
Common Sha	ares	0		0.0000	0.0000
Non-Voting St	nares	0		0.0000	0.0000
			Closing Balance		
			% of partic	ipation	
Type of Securities/I	Derivatives C	Quantity	Same type of Shares		Total
Common Sha	ares	0		0.0000	0.0000
Non-Voting St		0		0.0000	0.0000

Company: Banco Brade Banco B			
Name: Cartões		CPF/CNPJ: 59.438.325/0001-01	
Qualification: Controlled	/ Related Compa	ny	
		Openning Balance	
		% of participation	
Type of Securities/Der	ivatives Quantity	Same type of Shares	Total
Common Share	s 0	0.0000	0.0000
Non-Voting Shar	es 0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Der	ivatives Quantit	Same type of Shares	Total
Common Share	s 0	0.0000	0.0000
Non-Voting Shar			0.0000

Company: Banco Bradesco S.A. Banco Bradesco				
Name: Financiamentos S.A	CPF/CNPJ: 07.207.996	6/0001-50		
Qualification: Controlled / Related C	Company			
	Open	ning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	ing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Banco CBSS					
Name: S.A Qualification: Controlled / F		CPF/CNPJ: 27.098.060/00	01-45		
		Openning Balance			
		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	
-		Closing Balance			
		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

Company: Banco Bradesco S. Baneb Corretora				
Name: Seguros S.A	lue	CPF/CNPJ: 14.560.304	l /0001-18	
Qualification: Controlled / Relate	d Company			
	Оре	enning Balance		
		% of participati	ion	
Type of Securities/Derivatives	s Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clo	osing Balance		
		% of participati	ion	
Type of Securities/Derivatives	s Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.			
B	ankpar Brasil		
Name: Ltda		CPF/CNPJ: 34.046.581/0001-14	
Qualification: Controlled / Related Company			
Openning Balance			
	% of participation		
Type of Securities	/DerivativesQuantity	Same type of Shares	Total
Common Sł	nares 0	0.0000	0.0000
Non-Voting S	Shares 0	0.0000	0.0000
Closing Balance			
	% of participation		
Type of Securities/DerivativesQuantity		Same type of Shares	Total
Common Sł	nares 0	0.0000	0.0000
Non-Voting S		0.0000	0.0000

Company: Banco Bradesco S.A. Bankpar Consultoria				
Name: Serviços Ltda		CPF/CNPJ: 67.529.28	9/0001-01	
Qualification: Controlled / Related C				
	Openi	ning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Clos	ing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco B			
	nas Holdings		
Name: S.A		CPF/CNPJ: 15.011.336/0001-27	
Qualification: Control	led / Related Comp	bany	
		Openning Balance	
		% of participation	
Type of Securities/D	erivativesQuantity	Same type of Shares	Total
Common Sha	res 0	0.000	0.0000
Non-Voting Sh	ares 0	0.000	0.0000
0		Closing Balance	
		% of participation	
Type of Securities/D	erivativesQuantity	Same type of Shares	Total
Common Sha	res 0	0.000	0.0000
Non-Voting Sh		0.000	

Total
0.0000
0.0000
Total
0.0000
0.0000

Company: E	Banco Bradesco S.A.				
	BEC - Distribuidora de Títi	ulos e			
Name:	Valores Mobiliários Ltda	CPF/0	CNPJ: 07.299.480/0001-82		
Qualification	: Controlled / Related Comp	any			
		Openning B	alance		
			% of participa	ation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
I	Non-Voting Shares	0		0.0000	0.0000
		Closing Ba	lance		
			% of participa	ation	
Туре	of Securities/Derivatives	Quantity	Same type of Shares		Total
	Common Shares	0		0.0000	0.0000
I	Non-Voting Shares	0		0.0000	0.0000

Company: Bar	nco Bradesco S.A.				
E	3EM - Distribuidora de Títu	los e			
Name: N	/alores Mobiliários Ltda	CPF/	CNPJ: 00.066.670/0001-00		
Qualification: C	ontrolled / Related Compa	ny			
		Openning E	Balance		
			% of participa	ation	
Type of \$	Securities/Derivatives	Quantity	Same type of Shares		Total
Co	ommon Shares	0		0.0000	0.0000
No	n-Voting Shares	0		0.0000	0.0000
	-	Closing Ba	alance		
		_	% of participa	ation	
Type of \$	Securities/Derivatives	Quantity	Same type of Shares		Total
Co	ommon Shares	0		0.0000	0.0000
No	n-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A BF Promotora de			
Name: Vendas Ltda		F/CNPJ: 02.038.394/0001-00	
Qualification: Controlled / Related	Company		
	(Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0	0.0000 0.0000
Non-Voting Shares	0	0.0	0.000 0.000
		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares Non-Voting Shares	0 0		0.000 0.0000 0000 0.0000

Company	r: Banco Bradesco S.A.				
	BMC Asset Management - D	istribuidora			
Name:	de Títulos e Valores Mobiliár	ios Ltda	CPF/CI	NPJ: 04.163.016/0001-76	
Qualificati	on: Controlled / Related Compar	ny			
		Openning	Balance	9	
				% of participation	
Т	ype of Securities/Derivatives	Quant	ity	Same type of Shares	Total
	Common Shares		0	0.0000	0.0000
	Non-Voting Shares		0	0.0000	0.0000
	Ũ	Closing E	Balance		
		U		% of participation	
Т	ype of Securities/Derivatives	Quant	ity	Same type of Shares	Total
	Common Shares		0	0.0000	0.0000
	Non-Voting Shares		0	0.0000	0.0000
	-				

Company: Banco Bradesco S.A BMC Previdência				
Name: Privada S.A	-	F/CNPJ: 07.622.099/0001-02		
Qualification: Controlled / Related	d Company	,		
	(Openning Balance		
		% of participation	้า	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
		Closing Balance		
		% of participation	้า	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S. BP Promotora d				
Name: Vendas Ltda	•	F/CNPJ: 07.131.760/0001-87		
Qualification: Controlled / Relate	d Company			
		Openning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-		Closing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bpar Corretagem d Name: Seguros Ltda Qualification: Controlled / Related (CPF/	CNPJ: 43.133.503/0001-48		
		enning Balance		
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clo	osing Balance		
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000

Company: Banco Bradesco S.A.				
BPS Participações Name: Serviços Ltda Qualification: Controlled / Related (CPF/	CNPJ: 02.858.535/0001-23		
	• •	enning Balance		
	-	% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clo	osing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A Bradescard Elo				
Name: Participações S.A	CPF/C	CNPJ: 09.226.818/0001-00		
Qualification: Controlled / Related				
		nning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clo	sing Balance		
		% of participati	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Administrad	ora de			
Name: Consórcios Ltda		CPF/CNPJ: 52.568.82	1/0001-22	
Qualification: Controlled / Related Co	mpany			
	Openning	J Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Closing	Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Auto/RE				
Name: Companhia de Seguro	OS	CPF/CNPJ: 92.682.038	3/0001-00	
Qualification: Controlled / Related Co	mpany			
	Openni	ng Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Closin	g Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S. Bradesco	Α.		
Name: Capitalização S.		CPF/CNPJ: 33.010.851/0001-74	
Qualification: Controlled / Relate	d Compan	ıy	
		Openning Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000
-		Closing Balance	
		% of participation	
Type of Securities/Derivatives	Quantity	Same type of Shares	Total
Common Shares	0	0.0000	0.0000
Non-Voting Shares	0	0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco Leasing S.A.	-			
Name: Arrendamento Mercanti	l	CPF/CNPJ: 47.509.120	0/0001-82	
Qualification: Controlled / Related Corr	npany			
	Openning	g Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
ç	Closing	Balance		
	C	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Name: Brade	anco Bradesco S.A. esco S.A. Corretora c Controlled / Related	le Títulos e Val Company			CPF	/CNPJ: 61.855.045/0001-32		
	Openning Balance % of participation							
	Type of Securities/D	orivotivoo		Quant	:+.,			
	Type of Securities/Do	envalives		Quant	шу	Same type of Shares Total		
	Common Sha	res			1,583	0.0000 0.0000		
	Non-Voting Sha				9,511	0.0003 0.0001		
		Mont	th Move	ment				
Type of Securities/Derivative	Broker	Operation	Day	Quantity	Price	Value in R\$		
Common Shares		Buy	5-Apr	303	32.10	R\$ 9,726.30		
Common Shares		Buy	6-Apr	350	31.76	R\$ 11,116.00		
Common Shares Common		Buy	7-Apr	704	31.83	R\$ 22,408.32		
Shares Common		Buy	12-Apr		31.79	R\$ 19,582.64		
Shares Common		Buy	13-Apr		30.82	R\$ 5,824.98		
Shares Common		Buy	19-Apr		31.69	R\$ 8,302.78		
Shares Common		Buy	20-Apr	1,497	31.14	R\$ 46,616.58		
Shares Common		Buy	26-Apr	262	32.54	R\$ 8,525.48		
Shares		Total		4,183		R\$ 132,103.08		
Non-Voting Shares Non-Voting		Buy	5-Apr	1,849	32.10	R\$ 59,352.90		
Shares		Buy	6-Apr	1,412	31.76	R\$ 44,845.12		

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares	Buy	7-Apr	535	31.83	R\$ 17,029.05
Non-Voting	Day	774	675	01 70	110 17,020.00
Shares	Buy	12-Apr	675	31.79	R\$ 21,458.25
Non-Voting Shares	Dun <i>i</i>	10 Apr	1,376	31.69	
Non-Voting	Buy	19-Apr			R\$ 43,605.44
Shares	Buy	20-Apr	4,477	31.14	R\$ 139,413.78
Non-Voting	_		1.730	32.54	
Shares	Buy	26-Apr	1,700	02.01	R\$ 56,294.20
Non-Voting Shares	Buy	27-Apr	679	33.49	R\$ 22,739.71
Non-Voting	201	_, , , p.	1 051	00.44	
Shares	Buy	28-Apr	1,351	33.41	R\$ 45,136.91
Non-Voting			14,084		
Shares	Total		,••		R\$ 449,875.36
Common	0 "	. .	173	32.54	
Shares	Sell	3-Apr	-		R\$ 5,629.42
Common	0 "		360	32.77	
Shares	Sell	4-Apr			R\$ 11,797.20
Common		10 4	258	32.03	
Shares	Sell	10-Apr			R\$ 8,263.74
Common Shares	Sell	11 Apr	564	32.11	R\$ 18,110.04
Common	Sell	11-Apr			ną 10,110.04
Shares	Sell	17-Apr	405	32.20	R\$ 13,041.00
Common	UCII	п др			110 10,041.00
Shares	Sell	18-Apr	1,126	32.01	R\$ 36,043.26
Common					
Shares	Sell	24-Apr	4/3	31.71	R\$ 14,998.83
Common			050	00.00	
Shares	Sell	25-Apr	950	32.00	R\$ 30,400.00
Common			Q/	33.49	
Shares	Sell	27-Apr	04	55.45	R\$ 2,813.16
Common			39	33.41	
Shares	Sell	28-Apr		00111	R\$ 1,302.99
Common	Tatal		4,432		
Shares	Total				R\$ 142,399.64
Non-Voting Shares	Sell	2 Apr	208	32.54	R\$ 6,768.32
Non-Voting	Sell	3-Apr			ΠΦ 0,700.32
Shares	Sell	4-Apr	780	32.77	R\$ 25,560.60
Non-Voting	00ll	тирі			110 20,000.00
Shares	Sell	10-Apr	1,237	32.03	R\$ 39,621.11
Non-Voting	0011	i e y ipi			
Shares	Sell	11-Apr	1,433	32.11	R\$ 46,013.63
Non-Voting			070	00.00	
Shares	Sell	13-Apr	8/2	30.82	R\$ 26,875.04
Non-Voting			1,713		
Shares	Sell	17-Apr		32.20	R\$ 55,158.60
	Sell	18-Apr	438	32.01	R\$ 14,020.38

Edgar Filing: BANK BRADESCO - Form 6-K

Non-Voting Shares Non-Voting					
Shares	Sell	24-Apr	811 31.71	R\$ 25	5,716.81
Non-Voting Shares Non-Voting	Sell	25-Apr	4,593 32.00) R\$ 146	6,976.00
Shares	Total		12,085	R\$ 386	6,710.49
	(Closing Balan	ice		
				% of participation	า
	Type of Securities/Derivatives		Quantity	Same type of Shares	Total
	Common Shares		1,334	0.0000	0.0000
	Non-Voting Shares		11,510	0.0004	0.0002

Company: Ban	ico Bradesco Bradesco Sa				
Name:	S.A	uue	CPF/CNPJ: 92.693.118	/0001-60	
Qualification: C	ontrolled / Rela	ated Company			
		0	penning Balance		
			% of participati	on	
Type of Securit	ties/Derivative	sQuantity	Same type of Shares		Total
Commor	n Shares	0		0.0000	0.0000
Non-Votir	ng Shares	0		0.0000	0.0000
	-	C	losing Balance		
			% of participati	on	
Type of Securit	ties/Derivatives	sQuantity	Same type of Shares		Total
Commor	n Shares	0		0.0000	0.0000
Non-Votir	ng Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradesco SegPrev				
Name: Investimentos Ltda		CPF/CNPJ: 07.394.162	2/0001-09	
Qualification: Controlled / Related C				
	Open	ning Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
-	Clos	ing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Bai	nco Bradesco	S.A.			
	Bradesco Se	eguros			
Name:	S.A		CPF/CNPJ: 33.055.146	6/0001-93	
Qualification: C	ontrolled / Rel	ated Company			
			enning Balance		
		•	% of participat	ion	
Type of Secur	ities/Derivative	es Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ing Shares	0		0.0000	0.0000
	0	CI	osing Balance		
			% of participat	ion	
Type of Secur	ities/Derivative	es Quantity	Same type of Shares		Total
Commo	on Shares	0		0.0000	0.0000
Non-Voti	ing Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A. Bradesco Vida e	ı			
Name: Previdência S.A		CPF/CNPJ: 51.990.695	/0001-37	
Qualification: Controlled / Related	Company			
	Оре	enning Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	CI	osing Balance		
		% of participati	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.				
Bradescor Corretora	a de			
Name: Seguros Ltda		CPF/CNPJ: 43.338.23	5/0001-09	
Qualification: Controlled / Related C	Company			
	Ópenr	ning Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
6	Closi	ng Balance		
		% of participat	tion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares Non-Voting Shares	0 0		0.0000 0.0000	0.0000 0.0000
Ũ				

Company: Banco Bradesco S.A Bradesplan	Α.				
Name: Participações Ltd Qualification: Controlled / Related		CPF/CNPJ: 61.782.769/0001-0	I		
Qualification. Controlled / Related		Openning Balance			
		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares	0	0.000	0.0000		
Non-Voting Shares	0	0.000	0.0000		
Closing Balance					
		% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares	Total		
Common Shares	0	0.000	0.0000		
Non-Voting Shares	0	0.000	0.0000		

Company: Banco Bradesco S	5. A .					
Bradseg Name: Participações S	S.A	CPF/CNPJ: 02.863.655	5/0001-19			
Qualification: Controlled / Relate						
	(Openning Balance				
		% of participati	on			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		
Closing Balance						
		% of participati	on			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total		
Common Shares	0		0.0000	0.0000		
Non-Voting Shares	0		0.0000	0.0000		

Company: Banco Bradesco S.A.	- 1 -			
Bradseg Promotora Name: Vendas S.A	lde	CPF/CNPJ: 10.428.992	2/0001-06	
Qualification: Controlled / Related (Company	011/0110.10.420.002	-/0001 00	
		ning Balance		
	opon	% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
	Clos	ing Balance		
		% of participat	ion	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.					
Bram - Bradesco Asset					
Name: Management S.A. DTVI	Μ	CPF/CNPJ: 62.375.13	34/0001-44		
Qualification: Controlled / Related Con	ipany				
	Openning	Balance			
		% of participa	ation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	
Closing Balance					
		% of participa	ation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

Company: Banco Bradesco S.A.					
Bréscia Empreendimer	ntos e				
Name: Participações Ltda		CPF/CNPJ: 08.427.63	30/0001-59		
Qualification: Controlled / Related Cor	npany				
	Openning	Balance			
	1 3	% of participation			
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	
Closing Balance					
	5	% of participa	ation		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

Company: Banco Brades				
BSP Affin	пу			
Name: Ltda		CPF/CNPJ: 08.977.053/	0001-79	
Qualification: Controlled / F	Related Compa	any		
	•	Openning Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000
3		Closing Balance		
		% of participation	on	
Type of Securities/Derivatives	Quantity	Same type of Shares		Total
Common Shares	0		0.0000	0.0000
Non-Voting Shares	0		0.0000	0.0000

Company: Banco Bradesco S.A.					
BSP Empreendimento					
Name: Imobiliário D166 Ltda		CPF/CNPJ: 10.430.696	6/0001-40		
Qualification: Controlled / Related Con	mpany				
	Ópenning	g Balance			
		% of participat	ion		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	
Closing Balance					
	J	% of participat	ion		
Type of Securities/Derivatives	Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	

Company: Banco Bradesco S.	Α.				
BSP Empreendim	nento				
Name: Imobiliário D167 L	₋tda	CPF/CNPJ: 10.430.769/	/0001-01		
Qualification: Controlled / Related	d Company				
	Openning	Balance			
		% of participation	วท		
Type of Securities/Derivative	es Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	
Closing Balance					
		% of participation	วท		
Type of Securities/Derivative	es Quantity	Same type of Shares		Total	
Common Shares	0		0.0000	0.0000	
Non-Voting Shares	0		0.0000	0.0000	